

President

Philip Stoke 11612 January Dr 832-0743 newcnaprez@yahoo.com

V.P. - Four Seasons

Sally Nichols 1217 August 836-8017 snichols2@austin.rr.com

V.P. – Hillside

Mary Wheeler 1007 Rocky Spring 836-2254 (H) 784-7001 (C) mary.wheeler.80371@sbcglobal.net

V.P. - North Oaks

Kay Lee 11602 Oak Haven 837-4700 (H) 964-3021 (C) mlee43@moment.net

Treasurer

Jim Robinson 1302 March 719-4341 daddyjim7442@sbcglobal.net

Secretary

Elizabeth Harrington 818 Walnut Creek 835-4088 eaharrington@sbcglobal.net

Zoning Chairman

Mike Lee 11602 Oak Haven 837-4700 (H) 468-0891 (C) mlee43@moment.net

Advertising & Newsletter

Dave O'Quinn 11604 January Dr 832-9620 daveoquinn@yahoo.com

Many Thanks to Grace Howell for our website:

http://newcna.wordpress.com/

Neighborhood Association Meeting Thursday 7:00 P.M. JULY 22

Holy Word Lutheran Church 10601 Bluff Bend Dr.

Upcoming Events:

JULY 22, Quarterly Association Meeting. - ALL Residents Invited, members and non-members. Bring your neighbor

August 2 and 21 - Bi-Monthly Neighborhood Cleanup - Neighborhood cleanup held the first Tuesday and third Saturday of each month. Meet corner of Braker and Wedgewood at 9:00AM.

Future Quarterly Association Meeting. - October 28, 2010 & January 27, April 28, & July 28, October 27, 2011 (Fourth Thursday).

Neighborhood Yahoo Group http://groups.yahoo.com/group/NEWCNA/



Sidney Cox Plumbing

"Family Owned and Operated since 1978"

RESIDENTIAL COMMERCIAL 24 HOUR EMERGENCY SERVICE M-20654 M-18822

444-6370

Plumbing Repairs
Connection to City Sewer Systems

Yard of Month

http://newcna.wordpress.com

has Photos of the Yard's of the Month under beautification

Four Seasons

May-Terry, Dylan & Mark Pigg 11506 March Dr June-Jan Patschke 11500 February Dr

July-Jana Juler 1210 August Dr

North Oaks

May-Linda & Craig Mayhew 806 Walnut Creek Dr

June-Kay Alvis 11511 North Oaks Dr.

July-Sandie & Larry Smith 901 Riddlewood Dr

Hillside

May-Wayne Rupert Woodard

11522 Springhill Dr

June-Brett & Julie Miller 1006 Berrywood Dr July-George L Milner 830 River Oaks Dr

CRIME PER WEBSITE	Q2 '09	Q2 '10
VIOL OF PROTECTIVE		
ORDER	0	1
UNAUTHORIZED USE OF VEH	0	1
THEFT OF VEHICLE/OTHER	0	1
THEFT OF LICENSE PLATE	0	1
THEFT	1	0
TERRORISTIC THREAT-		
FAM/DAT VIO	0	1
TERRORISTIC THREAT	1	1
SUSPICIOUS PERSON	1	0
POSS CONTROLLED		
SUB/NARCOTIC	1	1
HARASSMENT	1	5
GRAFFITI	2	0
FAMILY		
DISTURBANCE/PARENTAL	1	0
FAMILY DISTURBANCE	2	1
DISTURBANCE/OTHER	0	2
CRIMINAL TRESPASS	1	1
CRIMINAL MISCHIEF	4	1
CRED CARD ABUSE BY		
FORGERY	1	1
BURGLARY OF VEH	6	6
BURGLARY OF RESIDENCE	0	8
BURGLARY NON RESIDENCE	0	0
AUTO THEFT	1	2
ASSAULT BY CONTACT	1	0
AGG ASSAULT	2	0
ACCIDENTAL DRUG		
OVERDOSE	1	0

ABANDONED VEH

CURRENT LISTINGS

Address	Price	Ft ²	Price/Ft ²
11509 June	\$109,900	2,294	\$47.91
11606 January	\$169,500	1,720	\$98.55
11402 January	\$175,947	1,679	\$104.79
11502 March	\$189,000	1,984	\$95.26
11310 January	\$147,900	1,703	\$86.85
11603 February	\$169,900	2,105	\$80.71
1317 August	\$239,900	2,135	\$112.37
11601 Oak Trail	\$132,900	1,505	\$88.31
913 Rocky			
Spring Rd	\$139,000	1,920	\$72.40
902 Fall Creek			
Dr	\$144,900	1,439	\$100.69
11805 North	#450 500	4 400	#400 04
Oaks Dr	\$152,500	1,426	\$106.94
11800 North	#462.000	4 520	#407 40
Oaks Dr	\$163,900	1,530	\$107.12
11804 Spring Hill	\$174,900	1,960	\$89.23
Dr 1011 Berrywood	\$174,900	1,900	φ09.23
Dr	\$194,800	2,454	\$79.38
11802 North	Ψ19 4 ,000	2,707	Ψ1 3.30
Oaks Dr	\$219,000	2,042	\$107.25
904 Riddlewood	Ψ2 10,000	2,012	Ψ107.20
Dr	\$127,000	1,013	\$125.37
905 Rocky	v . . . , .	.,	* /
Spring Rd	\$130,000	1,486	\$87.48
10504 Blue	, ,	,	•
Spring Way	\$139,950	1,379	\$101.49
910 Riddlewood			
Dr	\$174,900	1,604	\$109.04
808 Walnut			
Creek	\$209,000	2,688	\$77.75
11653 River			
Oaks Trail	\$229,900	1,900	\$121.00
814 Walnut			
Creek	\$254,500	2,378	\$107.02

River City Twirl and Dance

Register Aug 14 1-6PM

Preschool combination*
Baton* Acrobatics*
Ballet* Tap* Jazz
Clogging* Drill Team*
3yrs. creative movement

836-0351 or 327-1244 Braker and Dessau



WE HONOR DONNA CAMPBELL BALDWIN-

WWII, U. S. Marine Corps



Donna was born on a Texas farm in the Valley in Lyford, Texas. Her family, which included three sisters, moved to Edinburg, Texas when she was a child. She graduated from high school in Edinburg and went to work for Southwestern Bell Telephone Company as a telephone operator.

Donna is a widow and has three children and one grandchild. One daughter is a gift shop owner and painting artist in Pflugerville. The other daughter is an actress in Hollywood. Her son is a truck driver in Manor, Texas

Donna's church friend, housemate and caretaker of ten years Jo Bobbit takes very good care of her and keeps things neat and orderly in Donna's home.

Donna entered the Marine Corps in 1944. She was stationed in Washington, D. C. and worked as a typist in the casualty department. She was also stationed in Hawaii and San Francisco where she was a telephone operator. In 1946 she was honorably discharged because the war ended.

Years later Donna served ten years in the Marine Corps Honor Guard where she was one of the 21gun salute squad members. The squad served at funerals and ceremonies. (She jokes she can barely lift the rifle now).

Donna was the only woman ever to serve in the Marine Corps Honor Guard.

Donna's civilian jobs include seven years at Southwestern Bell and twenty years at the Texas Animal Health Commission as an accountant. She retired in 1974.

Donna has lived on Riddlewood Drive for twentyfive years. She loves the neighborhood because "it's pretty and safe and I am proud to live here."

Donna attributes long life to her involvement in church; keeping busy working in her daughter's gift shop several days a week and going Country Western dancing several nights a week at several senior citizens centers. She also likes to sew and repair clothes and curtains for friends and family.

Donna has numerous pictures of her life in the Marine Corps, Honor Guard and friends and family.

We Salute this fine Marine!







Larry D. Albright & Son

25 Years Experience

Painting & Home Repair

Interior & Exterior
Ceiling Fans & Lights
Sheetrock Repairs
Tape & Float & Texture
Rotten Wood & Siding Replacement
Light Electrical Work
Power Washing

(512) 913-3628 Cell (512) 834-2768 Home



1015 Braker Ln, Austin TX 78753 512-491-8902 Fax 512-491- 8908 Open 7 Days a week Mon – Sat 6:00 AM - 8:00 PM Sunday 6:00 AM – 6:00 PM

NORTHEAST AUSTIN FITNESS



Personal Training
Small Group Training
512-963-4309

1300 July

2 FOR 1 SPECIAL FOR NEWCNA

North East Walnut Creek Neighborhood Association

Membership

We encourage everyone to become a member of the association. \$15.00 a year (Jan-Dec) for each household supports activities and programs sponsored by your neighborhood association.

Mail Payments to: NEWCNA, 1302 March, Austin, TX 78753

Year you moved into your home:				
Your Name:	Spouse/Other:			
Other Residents:	Phone:			
Address: E-mail: E-mail is NOT used for solicitations or advertising It is used to send updates, reminders and notices from the association. Neighborhood concerns:				
Ideas to make neighborhood better:				